Efficiency vs hit

o 1.2
= L
< L
g L
> | R L L D L
%) L
= L
2 L . . . . N
o . . . . .
£ 0.8~ v [ P I
[} I . . . . .
T SRR SRR SRS ] I SN S
0.4 - - - . -
[.. #.{’w N A
0.2] é%{’ h b
[ |+ . . :
o o] PN I | | PP PP I
ERE | 5 B i | i Cii it
o
L2 TR - - -2 - AW -1 e
1 --
0 0 30
—=— DQM_mkFit_TTbase
—e— DQM_mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT_baseline_6iter
I Efficienc] —— DQM_mkFit6_TT_retrainOIdFiles125_v2_prelimWP_epoch2_wSQCD
o 0.8p
4
<3 E
& 0.7F
[ o
< o
& 0.6F
c o
o o
2 0.5 i
@ E
0.4
0.3F
0.2F
0.1
8 +OF
=
3] SN I ) N e
o 1.2
| ERRI & 8 X B & of FCERSREE
1 = -
0 5 10 20 25
TP layers

Efficiency vs pixel layer
0.5

efficiency vs pixel layers

6 7 8
TP pixel layers

Efficiency vs 3D layer

0.8

0.7

0.6]

0.5]

efficiency vs 3D layers

0.4]

0.3]

0.2]

0.

o

10

Ratio
L}
Ll

(R SRR H 5

0 2 4 6 8 10 12 14 16 18 20
TP 3D layers




	Contents
	Page 1


